3.4 Graph Linear Functions - Day 2
Recall: Slope Intercept Form 7/ =X+ \> L
!\ i \»(YCQ’F
slope=rm Y
Not all equations are in slope intercept form: E\_ﬁ— ‘“}“P\Q Con be rew Y"'I'H“eh
1ro y=mx b Form

FCANNDT read slope and y*\ﬂxfe"(@lr unless in b X

Examples: Transform the equation to slope intercept form. ¥
I 2x+y=6 2. 10x +2y=6 3. 6x—y=7 , =T
=6-Ix Iy=6-10x =Y =bx +7
A V= & _10x _
= U+ V=2-F y=zkty 2
i:3—5x = o 7”
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10. Graph: e=pu=—2u=m=d Y.
-Y=2x-Y )
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4. Sx—2y= — 5. y+7=%8&
—X="4-5x =%x-7
YLZ%‘%“ !
Y=2+ 32
= %)( *Z
7. 4x+y=10 8. 12x+4y= —16
Y=10-% Hy=-le-i2x
_-lonx
N=a~ 4
N="4-3X
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11. Graph: 5x+2y =6

Zy:‘5x+(o

=5x b
=z =
Y-_‘%x r3

m==

6. 3x+5y=15
5y~\5—3x
V=5
Y= 33
V="8x+2

9. —6x+4y=38
y=06x+8
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